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Ideals for irreducible component#ﬂ)f Xpar

I = (w® —u®+ .. +3u—1)

* 1 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u*—u2+...4+3u—1)

(i) Arc colorings

az =
ar =

u?+1
—ut — 2u?

ul® 4+ 6utt + 13u? + 1207 + 6u® + 4ud + u )

ag =

az = \ —y® — 7y — 18y — 19¢Y — 6u” — 2u® — 4ud +u

<u2613u24+~~+3u2+1>

ag = \ 20 4 1204 + .-« 4+ 4u® — 3u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?? + 4u?! — 64u30 + 56u?° — 448u%® + 340u?" — 1788u?® +
1156u2® — 4432u?* + 2356123 — 6940u?2 + 2804u?! — 665212 + 1616w — 3660u'8 +
Sul” — 1380u'® — 364u'® — 932u!* — 156u'3 — 380u!'? — 360u't + 22440 — 3284 +
40u® — 4u” — 56uS + 4ud + 48u* — 32u% — 12u2 + 20u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 T E e R T |
€2 P +uP 4 utl
c3,Cg P -5+ —3lu+3
C4,Cy, C10 uPB P+ 4+ 3u+1
% w3 —uP? 4 4 6lu+ 17
s w4+ 15u 4 w1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 y33+15y32+--~+y—1
€2 Y-y 433y — 1
€3, Co yP 421 4y — 9
¢4, €9, C10 Y 31y 4y —1
€5 y*3 + 11y + ... — 3011y — 289
cs BT 1Ty — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.138722 4+ 1.1782601

—0.390154 — 0.5724561

—8.31906 + 0.486057

u = —0.138722 — 1.1782601

—0.390154 + 0.5724561

—8.31906 — 0.486051

u= 0.679432 + 0.3915071

1.46905 — 8.418451

—5.65597 + 8.087311

u= 0.679432 — 0.3915071

1.46905 + 8.418451

—5.65597 — 8.087311

u = —0.649750 + 0.4077801

3.38108 + 3.306751

—2.44424 — 3.717701

u = —0.649750 — 0.4077801

3.38108 — 3.306751

—2.44424 4 3.717701

uw= 0.552937 4+ 0.5193631

1.99857 + 4.307231

—4.15179 — 2.035291

u= 0.552937 — 0.5193631

1.99857 — 4.307231

—4.15179 + 2.035291

u = —0.578988 + 0.4740231

3.67259 + 0.728311

—1.49015 — 3.125601

u = —0.578988 — 0.4740231

3.67259 — 0.728311

—1.49015 + 3.125601

u = —0.214004 + 1.2700201

0.50606 + 6.561961

—6.35976 — 7.197451

u = —0.214004 — 1.2700201

0.50606 — 6.561961

—6.35976 + 7.197451

u = 0.150986 + 1.2835201

2.96939 — 2.395601

—2.36922 + 3.312661

u=0.150986 — 1.2835201

2.96939 + 2.395601

—2.36922 — 3.312661

u=0.596688 + 0.3159791

—1.43040 — 1.503841

—9.59059 + 3.606161

u= 0.596688 — 0.3159791

1.43040 + 1.503841

—9.59059 — 3.606161

u = —0.632184 4 0.0665031

3.60742 4 3.477821

—12.61515 — 4.953141

u = —0.632184 — 0.0665031

—3.60742 — 3.477821

—12.61515 4 4.953141

uw= 0.036115+ 1.3799201

4.95997 — 2.198251

0.55384 + 3.616251

uw= 0.036115 — 1.3799201

4.95997 + 2.198251

0.55384 — 3.616251

uw= 0.22801 + 1.429351

4.19152 — 4.535231

—6.00000 + 3.092221

= 0.22801 — 1.429351

-~
IS

4.19152 + 4.535231

—6.00000 — 3.092221

u = —0.24113 + 1.460191 9.39642 4 6.567511 0. —3.418381
uw = —0.24113 — 1.460197 9.39642 — 6.567511 0.+ 3.418381
u= 0.25408 4 1.458401 7.42465 — 11.828801 0.+ 7.753371
u = 0.25408 — 1.458401 7.42465 + 11.828801 0. —7.753371
u = —0.20598 + 1.468441 9.92249 + 3.593961 0. —3.039091
u = —0.20598 — 1.468441 9.92249 — 3.593961 0.+ 3.039091
uw=0.18821 + 1.472941 8.40124 + 1.634911 0

u= 0.18821 — 1.472941 8.40124 — 1.634911 0




Solutions to I3

V=1(vol + y=1CS)

Cusp shape

u =

0.514867

—1.00604

—9.72740

u =

0.216864 + 0.4500931

—0.54661 — 1.453311

—5.02647 4 4.362571

u =

0.216864 — 0.4500931

—0.54661 + 1.453311

—5.02647 — 4.362571




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,cr ks Y T |
€2 uB Pt 4 a1
c3,Ce w3 —5ud? 4+ —3lu+3
€4, Cg, C10 B P+ 4 3u+1
€5 u? — w4 6lu+ 17
cs W 152 w1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C7 v 152 4y —1
o v P2 133y — 1
€3, Co yB +2TyP 4y —9
C4,Cg, C10 yP 431y 4y -1
€ y*3 + 11y°% + .- — 3011y — 289
cs R Ty 1Ty — 1




